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QUESTION 1

What performance information is obtained from the following trace snippet? 18.578 3.656 [http-8080-1] (RPCs=93)
com.documentum.fc.client.DfPersistentObject@14bdc05.save() ==>  

A. The save took 18.578 seconds to execute. 

B. The save took 93 seconds to execute. 

C. The save took 3.656 seconds to execute. 

D. The save took 382.11 seconds to execute. 

Correct Answer: C 

 

QUESTION 2

An application has excellent response time for metadata searches but poor performance during metadata update
operations. What factor has the largest performance impact on update operations? 

A. size of content file 

B. object replication in a distributed architecture 

C. content replication in a distributed architecture 

D. the number of events being audited 

Correct Answer: D 

 

QUESTION 3

Your organization has a TCS-enabled repository with an HR group defined. All HR documents created get the \\'HR
documents\\' ACL applied to them, which gives the HR group VERSION permission. There is an AUDITORS group in
the HR group that should only have READ permission. How would you grant VERSION permission to HR and only
READ permission to AUDITORS? 

A. You create a new HR_editors group with all the HR members except the AUDITORS and use in the\\'HR
documents\\' ACL as follows: 

B. You use the existing groups as follows: 

C. You create a new HR_editors group with all the HR members except the AUDITORS and use in the\\'HR
documents\\' ACL as follows: 

D. You use the existing groups as follows: 

Correct Answer: D 
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QUESTION 4

How do you turn off the mandatory access control (MACL) capability from your repository? 

A. issue the DQL statement: update dm_sysobject ( all ) objects set r_composite_label = \\'acl\\' where
r_composite_label = \\'macl\\' 

B. set the attribute macl_security_disabled to true on the dm_docbase_config object 

C. update the system default ACL to have the attribute i_has_required_groups as false 

D. change the dm_server_config objects r_trusted_mode attribute from \\'macl\\' to \\'acl\\' 

Correct Answer: B 

 

QUESTION 5

How is Cache Hit Ratio defined? 

A. the percentage of time a resource was found in the shared memory of the database machine 

B. the percentage of time a resource was found on the disk where the content files are stored 

C. the percentage of time a resource was found on the disk where the database files are stored 

D. the percentage of time a resource was found in the shared memory of the Content server machine 

Correct Answer: A 
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